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e Avoid grammatical clues such as "an."

* Place the blanks near the end of the statement. Try to present a complete or nearly
complete statement before calling for a response.

e Limit the number of blanks to one or two per sentence. Statements with too many
blanks waste time as students figure out what is being asked.

* If a numerical answer is called for, indicate the units (e.g. currency) in which it is to be
expressed.

5. Cloze test with/without clues

A cloze test is a fill-in-the-blank activity that assesses students' comprehension of vocabulary
and reading passages or knowledge of grammatical items. In cloze tests there are recurrent gaps
at every 4th, 5th, 6th or 7th word. If the first gap, for example, is used at the 5th place, all
through the text the gap will be at the 5th place. Unlike the gap filling activity that tests a
particular grammar item (e.g. preposition, article, pronoun, or verb) it is a test for vocabulary
(key words) in general. This is why gap filling activity in the reading section is usually a cloze
test. In contrast, gap filling activity is a merely a grammar test item.

A cloze test with 5 marks will have ten gaps (.5 for each gap). Considering the level of difficulty
cloze tests without clues at grade 10 can have 5 gaps (1 mark for each gap).

In answering the question, an examinee does not need to reproduce the text in the answer script.
Writing the missing word with the corresponding question number is enough. However, the
whole text with suitable words in the gaps will neither earn any extra credit or discredit.

6. Information Transfer

Depending on the level of difficulty and length of the text, information transfer and True/False
questions can be set from the same text. However, if the text is too small, do not use the same
text for both the tests as the content will be inadequate for setting questions. Make sure there
is no overlapping or repetitions in the question you have set. Alternatively you can use two
different texts for these two test items.

The marks allocated for information transfer is %2 x 10=5 or 1 x 5=5 (depending on the level of difficulty).

7. Substitution table

It's a grammar test item. It tests whether students can make grammatically correct sentences
following any particular structure/s. It's different from matching item. In matching there might
be equal number of texts in each column in a table and students need to make sentences using
a text from each column. In designing the test item, the question setter can write the texts in
Column A in a way so that the sequential arrangement of the text makes a context. In a
substitution table, depending on marks, there will be 4 or 5 texts in the left column, 1 or 2
grammar words that shows the form in the middle column, and extensions at the right column.
Each meaningful sentence made using the texts and the lexical word will have credit.

8. Gap filling with right forms of verbs

Sentences will be written in context in the question paper. Some verbs could be omitted or
given in brackets without any form. If the verbs are totally omitted in the text, a list of verbs
will be supplied in a box separately. Students' job will be to use the verb at the gaps in their
correct forms according to the context and other grammatical considerations. Alternatively
base form of verbs can also be supplied in the body of the text in parenthesis.

Students will write only the right answers with the question number. However, if anyone uses
the text with words at the gaps, it should be accepted as correct answer.
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